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Question: 140

The dentist treating the patient above wants to determine if any teeth are ankylosed. This can be done best by the
use of what?

A. Periapical radiographs of the anterior teeth
B. Percussion of the anterior teeth
C. Periodontal probing of the anterior teeth
D. Vitality testing of the anterior teeth

Answer: A

Question: 141



Periodontal therapy has been completed to assure a stable periodontal condition. Of the following, what would be
the next discipline a dentist should complete in the treatment sequence for this patient?

A. Gingival grafting to level the gingival margins in the upper anterior segment
B. Orthodontic treatment to erupt the lower anterior segment to help improve the occlusal relationship and function
C. Full orthodontic treatment to level and align both occlusal planes
D. Orthodontic treatment to erupt the upper anterior segment to level the incisal edges

Answer: C

Question: 142



A. Improper margin placement/visible margins
B. Improper labial anatomy (primary, secondary, tertiary)
C. Excessive length of interproximal contacts
D. Periodontal health is not optimal

Answer: D

Question: 143



The patient desires to close the diastema between the maxillary central incisors. The teeth are prepped for veneers.
After reviewing the photograph above, what obstacles would prevent this patient from achieving the desired
outcome?

A. The discoloration on tooth #8
B. Desired treatment not including the maxillary canines
C. Not enough incisal reduction
D. Labially positioned interproximal finish lines

Answer: A

Question: 144

The 19-year-old female pictured above recently had her braces removed. Her orthodontist referred her to you for
restorative care. At your introductory appointment photographs and models were taken. In your initial evaluation of
this case, which of the statements is correct?

A. B. diagnostic wax-up is needed to evaluate the restorability of this case
B. A diagnostic wax-up is needed to evaluate the restorability of this case
C. Interdisciplinary communication was likely used in this case
D. An implant and four restorations will restore to esthetic proportions

Answer: D

Question: 145



The patient's right lateral incisor in the photograph above needs tissue correction to bring it in line with tooth #10.
The measurement from the free gingival margin of #7 to the crest of the bone is 2.0 mm. Which of the following
options is the treatment of choice? Gingival recontouring:

A. For tooth #7 only.
B. For teeth #7 through #10.
C. Plus osseous recontouring for tooth #7 only.
D. Plus osseous recontouring for teeth #7 through #10.

Answer: A

Question: 146



A. Unnatural emergence profile
B. Periodontal health is not optimal
C. Exaggeration of central dominance
D. Improper axial inclination

Answer: A

Question: 147

following?

A. Evidence of iatrogenic damage to opposing teeth
B. Improper width to length ratio
C. Improper axial inclination
D. Periodontal health is not optimal

Answer: B




